
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Wednesday, 11/29-1
The normal approximation to the binomial
distribution.
As usual , let X denote the number of

successes ina trials of a binomial experiment,
with Plsuccess) = p .

We've seen that :

(1)M = E(X) = np ,

(2)P(X = 1) = (k)p
*
(1-p)n

k

(0 =k = n);

(3702= var(X) = np(l -p);
o = std(X) = up(l-p)

:

Example 9 .

Let X be the number of successes in
6 trials of a binomial experiment, with
P(success) = O . to

Find the probability mass function for X :&
find E(X)

,
var(X)

,
sta(X).

Solution
P(X =0 = ( % ) - 0 .400 66C

= 0 . 047

P(X= 1) = (5, ) · 0 .4" . 0 . 65 = 0 . 187
4

↑ (x= 2) = (2) - 0 .420 .
6 = 0

.
311

P(X =3)= 0 - C = 0 . 276

P(X = 4) = 8 - C
= 0 . 138

P(X=5) = o e C
= 0 . 037

P(X=6) = 60C
= 0

.
004

Also E(X) = 6 . 0 .4 = 2 . 4
,

var(X) = 6 : 0 . 4 · 0 . 6= 1
. 44,



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


